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————{ INSTRUCTIONS

1. Please correctly fill your Roll Number in O.M.R. Sheet
Candidate will themself be responsibie for filling wrong
Roli No. _

2. At the start of the examination before attempting the
question paper kindiy check your test booklei and OMR
Answer Sheet and ensure that :

e The serial numbers of test booldet and OMR answer sheet
arc same.

o All pages of test booklet and OMR answer sheet are
properly printed. Al guestions from 8. No. 1 €0 last 8. No,
150 are prinied and pages from 8. No. 1to Jast 5. No. 24 are
there in the guestion booklet,

In case of any discrepancy / defect the candidate should

immediately report the matter to the invigilator for replacement

of test booklet and QMR answer sheet. Mo claim / objection in
this regard will be entertained after five minutes of start of
examination. Candidate witl be liable for it.

3. Asnswer all questions,

4, Al questions carry equal marks.

5. Only one answer i tobe given for each question. Imore than
one answers are marked, it would be treated as wrong answer.

6. 1/3 part of the mark(s) of ench question will be
deducted for each wrong answer. A wrong answefr means
an incorrect answer or mofe than one answers for apy
question. Leaving all the relevant circles or bubbles of any
question blank will not be considered as wiong answer,

7. Bach question has four alternative responses marked serially
as{A), {B), (), (). You have to darken only one circle or
bubble indicating the correct answer on the Answer Sheet
using BLUE BALL POINT PEN,

8. Use of Mobile Phone/Bluetooth Devices or any other
electronic gadget inthe examination hall is strictly prohibited.
If any such prohibited material found with any candidate,
styict action will be taken against him/her as per rule.

9, If there is any sort of ambiguity/mistake either of printing
of factual nature i Hindi and English Version of the question,
the English Vezrsion will be treated as standard,

Warning : Ifacandidate is found copying or if any unaathorized

material is found in his/her possession, F.LR. would be lodged

against him/her in the Police Station and he/she would liableto be
prosecuted under Section 3 of the State Prevention of Unfair

Means Act, 1992 and Board Regulations. Board may aliso debar
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hizn/her permangntly from all future examinations of the Board.
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Match List-l with List-II and select the
correct answer from the codes given
below the lists :

-1 B -1 & we gk o w
gt % A9 Ry H A w@ v
List-1/ List—-1i/
et~ 1 gdl - 11
a. Citric Acid / 1. Butter/
| fafes anm A
b. Butaric Acid/ 2. Lemon/
=2 e S
c. Acetic Acid/ 3. Milk/
wHifew e any
d. Lactic Acid/ 4.
e e
Codes / §2 :
a
(A) 2
(B) 1
€y 2
Dy 4

Vinegar /
et

EGE
1]

LV Y~

c
4
3
3
2

[n T N N PV =W

Which instrument is used to magnify ;
very small objects 7

(A) Hydroscope  {B) Electroscope
(C) Periscope (D} Microscope

A Up——

31 gew Iwget % et & e Rew ag
T 3ua T & ¢

(A) TEEHY  (B) WEITHT
(C) dfeepm (D) TTEHRET

|

!

|
| |
Night-blindness is caused by deficiency |
of |
{A) Vitamin C (B) Vitamin A !l
(C) Vitamin K (D) Vitamin B |
Tt &t et o ST B R |
() faafi ¢ |
() famfmK |

(B) Taeifi= A
(D) ﬁaﬁma
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4‘

Heart muscles are

(A) Involuntary and Striated
(B) Striated and Voluntary
{C) Unstriated and Voluntary
(D) None of these

T ) Ui E -

(A) sRes 3i Waa

(B) faa 3 tfo®

(©) fgg v Yfews

(D) T8 & B 7

Which of the following .is the sweetest

sugar ?

{A) Fructose {(B) Glucose
(C) Sucrose (D) Maliose
fa g d=n ot ged fid wdr e ¢

(A) B (B) ®[HT
(C) g&W (D) TTEAS

In humans, what is the main cause of
anaemia 7

(A} Deficiency of Iron

(B) Deficiency of Vitamin D

(C) Deficiency of Vitamin E

(D) Da?ﬁciency of Vitamin K

a3t F, weefioran (i) < g wne
Y7

(A) Sedftwdt

(B) Frfim D wh

(C) Trrftm § ) ft

(D) forerfers K % weft

BCG vaccination is given to prevent
disease in infants,

{(A) T.B. {B) Cholera

{C) Malaria (D) Diphtheria

st . de e 7 | s

&g femamar 2

(A) .4

(C) vt

(B) wreiT
(D) Temafa
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8.

Match List-1 (Mahajanpadas) with List-I1
{Capital) and choose the correct option
from the given codes :
-1 (FErR) W -1 (o) %
| gt e fe e 12 % s W
List-1 / g&fi-1 List-11 / gEh-I1
{Mshajanpadas) / (Capitat) /
(FEIR) (rsrerrt)
a. Kashi/ t.  Vaishali/
. i G
b. Anga/ 2. Varanasi/ .
3 ot
c. Vajji/ 3,  Kausambi/
gfat LAt
d. Vatsa/ 4.  Champa/
90 _ T
Codes / <2
a b ¢ d
(A 4 3 2 i
B 2 4 1 3
Cy 3 4 2 |
Dy 1 3 4 2
Which of the following is the correct
chronological order for the construction
of these monuments ?
W WS H1 IHF I & BEFHHET
fadashomwnadd?
1. Taj Mahal/
H
ii. India Gate/ 3
o s
iti. Fatehpur Sikri/
GARR Hehd)
iv. AgraFort/
PRI foRen
(A} 1, v, ii1, i {B) iv, iil, 1, 1
(C) iii, i, iv, ii (D) ii, i, iv, iii
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Which of the following pairs 1s correctly
matched 7
ﬁtr%rﬁaﬁ'i‘r s argmad g R 7
Nagananda — Harsha /
AR~ B
2. Mudrarakshasa — Visakhadatta /
e - e
3. Mrichchhakatika —~ Sudraka /
- - -
4, Ratnavali — Rajasekhara /
TS - T
Select the correct answer from the codes
given below :
= Ry o ge O 4 wd 3w g
(A) 1,2,3 (B) 2,3,4
{C) 1,3,4 Dy 1,2,3,4

The Mughal Ruler who spent 15 years in
exile was

(A} Babur (B) Humayun

(C) Akbar (D} Jahangir

7t v v 15 9 et femmag o
(A) Wi (B) g,

(Cy AR (D) &R

The greatest achievement of Raja
Rammohan Roy in the field of Social

reform was abolition of satim ___ A.D.
3 B Ol T W% IEE O
THTE T ) T guR & & § aee
a Sqeirey ot

(A) 1929 (B) 1729

(C) 1829 (D} 1928

What is the correct sequence of the
following events ?

fevemlim e wuang 7 -

1. Cabinet Mission /

Ffae frew
2. Cripps Mission /
e e
3. Lord Wavell’s Proposal /
GICEEAIsIE]
4. Mountbatten Plan /
HiSeaed qra
(A) 4,2,1,3 (B) 2,3,1,4
(C) 3,4,2,1 D) 1,3,4,2



14.

15,

i6.

17.

Hindu Mahasabha was {founded in

ﬁgnarma‘%ww dgd el
{A) 1917 (B) 1916
(C) 1915 (D) 1815

Who out of the following was elecied by
the Constituent Assembly as its
Constitutional Advisor ?

(A) Dr. Rajendra Prasad

(B) B.N. Rao

(C) J.L.Nehru

(D) Valiabhbhai Patel

frm & & ®ea afm ww g W

HaYTi SETEHR % &9 A g1 791 A7 7
(A) 1. e SR (B) oLuw,
(C) TR TBE (D) ToaWHE T

The Right to Education was inserted in
Indian Constitution by :
(A) 44" Amendment
(B) 86™ Amendment
(C) 31°* Amendment
(D) 91° Amendment

% 3R rAte wfewm F e
TR IT=q: e fema v |
(A) 443 TmMgT  (B) g6d avum
(C) 31dumeaw (D) 918 yWnE

The order in which the following
personalities were eclected as Vice-
President of India is

frffes sifee] % WRE & 37-TgeR
gﬁaﬁwaﬁrm%
Dr. Zakir Hussain /
o R e
2. V.V.Grri/
#.f. frf

3. K.R. Narayanan/

&, IR, TOIIH

4, Dr.B.D Jatti/

g &gl

(A) 4,3,2,1 (B) 3,2, 1
(C) 2,L,4,3 (D) 1,2, 4,

B SV g T —

1

|
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18. Given below are two statements labelled

19.

as Assertion {A) and Reason (R), In the

context of the two statements, which of

the following is correct 7

Assertion {A) : India is Democratic.

Reason (R) : India has a Constitution

of its own.

(A} Both (A) and (R) true and (R) is the
correct explanaiion of (A}.

(B} Both (A)and (R) true, but (R) is not
the correct explanation of (A).

(C) (A) is true, but (R) is false.

(2} (A)1s false, but (R) is true.

# fow o @ aerel w1 AfiERe (A) 3R

7% (R) % &v ¥ fafee feay mar § | O

FFA U R e s AR ¢

FEYT (A) : YRG ABEAT 8 |

T (R) YR H AT T W

. HREE

(A) (A) IR (R) I 7 € S R), (A)
o T ST 2 |

(B) (A) 3 (R) THI wed B, WR{(R), (A)
61 et saren 41 € |

(C) (A)TT R, T (R) F&T ¢ |

(D) (A) 378 &, "G (R) T8 |

Who among the following is directly

responsible to Parliament for all matters

concerning the Defence Servicegof India ?

(A} President

{B) Prime Minister

{C) Cabinet Commitiee on Political
Affairs

(D) Defence Minister

AT B i e 1 W Sanai 4 vty

mm%mmm@m%wﬁf
(A) Tgufd

(B) WEFHRIA %
(C) TerfiTae Amet &1 BRee afafy
(D) T W

IR R ?
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20.

21.

22.

23,

- (A) Www FHE

NITI Aayog, in partnership with Bill and
Melinda Gates Foundation launched -
{A) Poshan Gyan (B) Anamya

{C) Aahaar Kranti (D) Tika Utsav

- Afy IS faret wa Aftre Agw weveTH

% ey st 3 e T
(B) 33X
(C) FmEIsHT=r (D) &t 3ea

In Indian Constitution, Article 338-B-
National Commission for Backward
Classes was inserted by —~

(A) 102 Amendment Act, 2018

(B) 104 Amendment Act, 2020

{C) 105 Amendment Act, 2021

(D) 103 Amendment Act, 2019

et Wi i argede 338-B - fwg wm
¥ fore Tgta ram s wenfia fr v
(A) 102 Guin= arfufm, 2018 g

(B) 104 duirer arftrfgm, 2020 g1

(C) 105 wenu= arftrfm, 2021 g1

(D) 103 wmeA rfufxa, 2019 g

Deccan Plateau is mainly made up of
{A) Limestone - (B) Basalt

(C) Sandstone (D) None of these
Z@H TER JEAd: &1 T 8

(A) T (B) s@Iez

(C) e (D) T AHE T

Which of the following does not belong
to biosphere reserves set up so far ?

{A} Sunderbans

(B) Great Nicobar

(C) Nanda Devi

{D) Gulf of Kuchchh

fra 4 & @) W o o wnfiy Sedes
e 8 wfirer T R

(A) g5 (B) e fplam

(€ TR (D) %= i Wel
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24.

25,

26.

Which of the following states touches the
boundary of four nations ?

{A) Assam

(B) Uttar Pradesh

(C) Nagaland

(D) None of these

= 3 g fra o B dad am g R

AT A i g & ¢
{A) ¥FER
(C) TS

(B) TN
(D) T & &8 7

Which one of the following places
receives the maximum sunlight in

‘December ?

(A) Kanyakumari (B) Kolkata
(C) Leh (D} Pune
fo wrf} § © B9 @ we fewwa #

Jftrepan g -3 WTE HET R 7

(A) AT (B) HITTRIAT
(€) 37 (D) T
&
Match the Columns / ﬁ
g&f%ﬁﬂft
~ Bhilai/ - 1. Jharkhand /
Premg HREE
b. Durgapur/ 2. Odisha/
i sifeam
¢. Rowkela/ 3. Chhattisgarh/
d. Jamshedpur/ 4. Utiar Pradesh/
FAUHE IW R
5. West Bengal/
9feaw ams
Codes /¢ :
a b C d
(A) 1 2 3 4
B 2 4 1 5
(C) 2 4 1 3
Dy 3 5 2 1



27.  Which of the following arrangements is
- correct according to their locations from

28.

29,

(A) Nilgiris

north to south mountain ranges ?

Fre1 31 8 7 o saeere s @ gfinr add

siwenail & S araffy % orEm

27

I. Karakoram/ 2. Ladakh/
HITHIH SEEL] |

3. Zanskar/ . 4. Pir Panjal /
HTEa I gaet

(A) 2,3,4, 1 (B) 1,4,3,2

{O) 1_, 2,3,4 (D) 2,4,1,3

The Tropic of Cancer passes through
{A) Maharashtra

(B) Uttar Pradesh

(C) Andhra Pradesh

(D) Madhya Pradesh

& @ CREGIE S
(A) TR (B) 3% W |
(C) 3w yem (D) AEq ye

Karmataka’s Mandalapatti hills (which

were in news) are blossoming with the

|

blue flowers, which blooms once every
12 years. Name this flowers.

(B) Neelakurinji
{D) None of these
1o T TS Yad (S gHTER § o91)

(C) Neelpushp

T AR IE Bia # | 59 IS o T wad |
(A) Fefed
(C) et g

(B) rempiE
(D) 0 A FE 7l

6

|
;
|
;
g & g &, s 12 i e g |
|
|
|
|

30,

3.

32.
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Ministty of Road Transport and

Highways has notified Bharat Series

(“BH” series) of registration. BH series

will be available on voluntary basis to

(A) Defense Personnel

(B) Government employees

(C) Employee of Private sector
companies which have their offices
in four or more states/UTs.

(D) All of these

G TR O TSI TAer § gt
# s "l (‘B #idlst) srfirgfra
? | BH diiw ¥ffs% snur ot Juers vt
(A) TIT ST I

(B) TR} HHaTRE! &

(C) STEaE & %Y arg B, b =
I Tt [/ g ot e #
wrfed €, & wdu o) |

(D) A |

Meiraba Luwang Maisam, who was in
the news recently, is related with which

sports ? _

(A) Tennis (B) Chess

(C) Shooting (D) Badminton
et o Aun am A g S == o,
form gor @ defim & 7

(A) 2FE (B) et

(C) sl (D) =iz

Recently which ministry launched

NIPUN Bharat Programme, a National

Mission on Foundational Literacy and

Numeracy (FLN) ?

(A) Ministry of Education

(B) Ministry of Parliamentary Affairs

(C) Ministry of Science and Technology

(D) Ministry of Information and
Broadcasting

T & W g e 3 g (NIPUN) sme
FHRIEH, =T HTEaT v 5eE 1 (FLN)
o Tt T Wy foean 7

(A) T g

(B) T9EH $7e HAE

- (C) Tawm wa N tanem

(D) I 03 THRY HATE™ |
1048

33.

34.

33.

(A) . 9E | |

Recently, who was appointed as the ;36.

Chairman of National Commission for
Minorities 7

(A) Suresh N. Patel

(B) Igbal Singh Lalpura

(C) K. Sivan

(D) None of these _
B @ # v stevaess A seay Re
forgen o a2

(B) veparet fiig wrergy
(C) . faam
(D) 7 § 9yE 7

Which app has been launched by Flipkart
to enable Indians to start their online
businesses without any investment by
sharing catalogues ?

(A) Shopsy (B) Myntra
(C) Meesho - (D) Ajio
forera =i R e Topar R U it Tl Bt
eeth wren g1 v W Ao Aty

| ST Y S 6l gfew 3§
(A) wEh (8) B 38,
(C) @ (D) afvrr

Which bank has become the first bank in

the country te achieve the milestone of

issuing 1 crore FASTags ?

(A) State Bank of India

{B) Federal Bank

(C) Paytm Payment Bank Limited

(D) ICICI Bank

1 HUE G A WA W A WA

|
}
5
;
ST 29 F YYT 5 HF €1 @41 7 g
|
|
|
]

(A) T ¥ 3l §fean

(B) ®TE S5

(C) T Wi o fefiee
(D) SR A 5

104B 7

- (A) RIL

37.

39.

40,

The country’s single-largest solar

photovoltaic project at Rann of Kuchchh

region in Khavda, Gujarat will be

constructed through ]

@I, TORE % FUS &9 % O § o

THATT U T B Aeerd IR o6

oo % g T e |

{(B) NTPC-REL

(C) NHPC (D) PGCIL

Essential Defence Service Bill, 2021

passed by the Parliament that allows the

Central Government to  prohibit
in units engaged in essential

defence services. :
(B) Lock-outs

(A) Strikes
(C) Lay-offs (D) All of these
HHe g vE R T snavas W 8

wufRaE, 2021, W) e UEHER B STETEH
o dured] d oof gl 4 W

ghm e w0 w1 R e R )
(A) FZa (B) wreirsic}
(C) A~k (D) 3 weft gﬁ

India’s first COVID-19 vaccine to get
approval for children above 12 years :

(A) Sputnik (B) ZyCoV-D

(C) Covishield (D) Covaxin '
129 ¥ TS a= & fog sgdes waTen
W &7 W wiferg-19 1 2

(A) Tt (B) IIHE-€

(C) Hrasfee (D) HaFE
FeTaifa wse fra qeTE @ 3eEw ] ¢

(A) Teges ®) i

{C) YT (D) s

o frrea A famim g 2 7

(A) W - o (B) WA - FARf
(C) s — 3im (D) YA ~ FHT

A



41.

42.

43,

44.

45,

e e & weg-gm w1 o1 o 8
B7?

- F4-95
(A) TWaB-Ya8 - T — w8
B) ww-g8 - fRwm-uwE
(C) HTANFH~AAA® -~  JET-—GEATES
(D) I~ ~  wer-fawe
‘qisft T HA GH T W B GEER B
Wﬁﬁf% :

(A) FET TR~ T e |

(B) R wdi fommad
(C) STHT 1 & ST |

(D) 7=t avE ST |

T it g @ e § 3 a wgg e
27

(A) g TRBTE SYeht SITTaT YatT T 7 |
(B) & Hweht w0 % wrdter & fore e E |

(C) TR AR TR § )

(D) Frmwm Y o sgfe 6 |

fore e % o sy s ol i 8 7

(A) Tfx & faerw @ a1an — R

B) 8 ge favg § e & - wdw

(C) ¥RE WENi 4 TH W EW aen -
AHEATE!

(D) ufa g@ 91T — T

ﬁm%ﬁﬁsrﬁmﬁanﬁﬁq:

(1) Hewe (2) fteft
(3) e (4) Io7eM
rafmadaf v yed ¢
(A) 1,2 313 (B) 134
(C) 334 (D) 98 g+t
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46, T 4 3 e oo w1 wf -l adt +d
2?7
(A) FRifET =35 + ¥
(B) THMEY =T + 3749
(C) W=7 + 8
(D) wfrared = gl + 9

47. foro fomem ¥ wvit e e wataareh =
&7
(A) 3, gm, 71 |
(B) i, wfteeft, weeyfend
(C) e, wefi, atfa
(D) T, st ferm

48. T 1 @ fow famea & ot w1l F Sl
A T () FTIIM IR 7
(A) FTETGE, U
(B) TSR, BEUA
(C) AeiifErpar, wermatfs
(D) g0, s

49, Ty fowen ¥ idsh wionfes wee &1
e B aienRs e ad B 7
(A) Adverse — A,

(B) Inexpedient — ST HIEH
(C) Probation —aftfien
(D) Symposium — &

50, Tou foereq # ‘Foresight’ WIeg %1 W
T wifonfyes wree wdt 8 7

(A) TRt (B) g
{C) PR (D) feex

104B

- Comprehension of Unseen Passage

Nature writing is non-fiction or fiction prose or
poetry about the natural environment. Nature
writing encompasses a wide variety of works,
ranging from those that place primary emphasis
on natural historical facts {(such as field guides)
to those in which philosophical interpretation
predominate. It includes natural history essays,
poetry, essays of solitude or escape, as well as
travel and adventure writing.

Nature writing often draws heavily on
scientific information and facts about the
natural world; at the same time, it is frequently
written in the first person and Incorporates
personal observations of and philosophical
reflections upon nature.

Modern nature writing traces its roots to the

works of natural history that were popular in .

the second half of the 18® century and
throughout the 19™. An important early figure
was the “parson-naturalist” Gilbert White
{1720 — 1793), a pioneering English naturalist
and ornithologist. He is best known for his
Natural History and Antiquities of Selborne
(1789).

Read the passage and choose the most
appropriate option. {Q. No. 51 - 55)

51. Nature writing emphasizes on
(i} Historical facts about the nature
(ii) Philosophical interpretations of the
nature
(1t1) Scientific information and facis
Choose the most appropriate option :
(A) Norne of these
(B) Only (i) and (ii)
(C) Al (), (ii) and (iti)
(D) Only (ii) and (iii)

52. Based on the passage what is period to
which the modern nature writing can be
traced to ?

(A) 1850l 1999 (B) 1850 to 1899
(C) 1750 ull 1899 (D) 1750 tili 1900

1048

253.

; 5.

58.

Which statement summarizes the above

passage ? _

(A) Thé passage talks about the life and
lessons of Gilbert White, a profound
naturalist and ornithologist.

(B) The passage talks about how the
nature writing is missing in the
modern era and needs to be revived,

(C) The passage talks about from where
the writers draw inspiration for
nature writing, and how its
importance is diminishing in the
modemn era,

(1) The passage talks about what nature
writing is, the different types of
nature writing, its style, and about
the roots and pioneer of modern
nature writing.

Which word aptly describes the word
“reflections” as used in the passage ?
{A) Opinion {B) Reproduction
{C) Images (D) None of these

According to the passage, what kind

of works are written as part of nature

writing 7

(i) Natural history essays and essays of
solitude or escape '

(1)) Poetry

(i) Travel and adventure writing

Choose the correct options ;

(A) Only (i) |

{B) Only (i) and (ii)

{C) Only (i1} and (ii1)

(D) ANl (), (i) and (i1i)

In the given sentence, find out which part
of the sentence has an error. If there is no
mistake, then the answer is ‘No Error’.

Posture refers to how you position your

body when you're sitting, standing, or

tying down.

(A) Posture refers to

(B} how you position your body

{C) when you're sitting, standing, or lying
down. '

(D} No error

A



57.

58.

5.

60.

6l.

In the given sentence, find out which part
of the sentence has an error. {f there is no
mistake, then the answer is ‘“No Error’,

Last month, the Taliban capture 69 district
from the Afghan government.

{A) Last month, the Taliban

{B) . capture 69 district

" {C) from the Afghan government.

(D) No Error .

Give Synonym of : Baleful
(A) Uncovered (B) Ruinous
{C) Gentle (D) Trial

Give Antonym of : Quell
(A) Contract {B) Incite
(C) Recommend (D) Praise

Give meaning of Idiom : Cry Wolf
(A) To referto

(B) To emphasise

{C) To have no result

(D) To give false alarm

In the following letter series, some of the
letters are missing which are given in that
order as one of the alternatives below it.

19 B 7E A Aof Ay R gD §, 7=

- e v i yasedt o 4 fedt o A3

FuA T e |
b _abba abbba_aab bbaa _aa
Choose the correct alternative

T e = =z i
(A) babba (B) aabba
(C) aaaba {D) baaab
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From the given pairs of words, you have
to select the pair which is closely related
in the same way as the words of the first
pair.

DOCTOR : STETHOSCOPE

gA) Gun : Tank

(B) Typewriter : Computer

(C) Pencil : Pen

(D) Carpenter : Saw

f2 8wl % gt § & I W P H
T T B ST g S ) ) G A
e ¥ & et #

TR WU ¢

(A) TGH : &5
(B) TTEOTE : AR
(C) et .
(D) g8 a1l

Choose the group of letters which is
different from others.

e F 39 TG 1 9T LS T
2|

(A) GFE B) CBA

(C) TRP (D) LKJ

Which letter will be 7 to the Jeft of 17%
letter from the left end in English
alphabetical series 7

Fiirslt uiaTen sfEen § A R E 174 3a
& Wl BT 73 AW BH WET 7
(A) ] (B) M
© Q D) K
1048

Read the givem passage and aoswer the
questions (65 to 67) that follows based on
passage :

Wind is an inexhaustible source of energy and
an aero-generator can convert it into electricity.
Though not much has so far been done in this
field, the survey shows that there is a vast

potential for developing wind as an alternative -

sowrce of energy. The wind survey has four
components - direction, duration, speed and

_distribution. On this basis U.P. hill areas have

been found an ideal place for setting up aero-
generators. In U.P. hills alone, as many as 38
sites have been identified.

o my ufteds =) wfgn ot 3w ot armarha st
(65 % 67) % I AN -
P T R U 315 e § 3 v wreeiE @
T % wlafda =t v § 1 gl @ ag @
w1 O 78] v e 8, wdem REwrd Ay
7 o sl gl 3 s A PeElm s
IR AR & | g wda % 9w ues § -
feen, enmmafy, ofy afit R | @ 3R W
e i wiie %@ % e w & uddw
£ F ey W & w0 H U T R | I
3.9. & ydal W Hw-8-wa 58 el w fafke
fermmen g 4
65. The survey was conducted under the

government of U.P.

{A) Data inadequate

(B} Probably true

(C) Probably faise
(D) Definitely true

3.9, TR & A Taer |@u= e war e

(A) 3T MW (B) aWEq: Al
(C) B Tiee (D) Pt = a vl

66. Energy by wind is a comparatively new
emerging field.
{A) Definitely faise

{B) Data inadequate
=ha

(C) Definitely true
{D) Probabiy false

1Y B ST IR 1 AT B3 9 B
(A) Affsasvamem  (B) 2@ 9ww
(© tsasadwd (D) wvEw: o

1048
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68.

58 sites identified in U.P. did not have
electricity.

{A) Probably true

(B) Definitely true

(C) Data inadequate

(D) Definitely false

3.y. 7 Fufi 58 vt W forgra ety A

off |
(A) gvsa: @ (B) Fitwasanad
() mawmig (D) Mg wwdmwem

Pointing to a lady, 2 man said, “The son
of her only brother is the brother of my
wife”. How 1s the lady related to the
man ?

(A} Mother’s sister (B) Maternal aunt
(C) Mother-in-law {D) None of these

e ST 3 T Afen h 3 TR Q@ T
W “I5PB THAIT WIS 1 T, B uwd B

- umd R 1 afgen et @ few R weiE

&7
(A) BT T8 (B) wHt
(€) o™ (D) ¥ 4 B

HACT is coded as ‘DFW, how will you
code ‘BAD’ ?

Hﬁ‘ACT’ﬁ‘DFW’iﬁHMW% at

FTT ‘BAD’ 1 F2 71 442N ?
(A) EDG (B) GDC
(C) GHU (D) VCR

. Shyam walked 6 metres towards East,

then took a right turn and walked a
distance 9 metres. He then took a right
turn and walked a distance of 6 metres.
How far ig he from the starting point 7
(A) 15 metres (B} 9 metres

{C) 21 metres {D) None of these
vam gd Y AR 6 W gen, e o
HEa 9 i 9 | R F 37 Sl 3R
T 6 et s | 98 e Rig @ Readt

TR ?
(A) 15 WX (B) 9 ¥
(C) 217 (D) 37 ¥ 3 =T

A



71.

72.

3.

Seven friends P, Q, R, S, T, U and V are
sitting around a circular table facing the
centre. R is next to the left of Uand V is
second to the left of R. P is sitting third to
the leftof T. Qis between S and T.
What is the position of U ?

(A) Fourth to the right of S

(B) U is between V and R.

(C) To the immediate left of R

(D) Immediate neighbour of P
TGS P, Q, R, S, T, U 3K v &g £
3 9@ U el B & wry A
U% 3% SRR 2 oM R ¥ s AET V
AITH AR WANPIFR (ST
THAAQE |

USTRA PN TR 7

(A) SHIMET G =eA

(B) VI RFTAIUR |

(C) R d&piet 913

(D) P 1 faemean vgidh

Raj is positioned 10® from the left and
Atui is positioned 8% from the right in a
row of 15 students. How many students
are between them ?

15@%3&@%1‘;‘@&1&@1@%
W 3R 3T o © 8Y W W E | 3
e o e O & 7

(A) 15 B) 0

(©) 6 D) 1

Which one of the given responses would |

be a meaningful order of the following
words ?

o w1 vyl R i A A
aﬁ'-r‘mt{%ﬁ@m ? , —
Puip / 2. Print/
gl I
3. Paper/ 4. Purchase/
T Y
5. Publish/
YhHE .
{A) 1,3,2,5,4 (B) 1,4.3,5,2
© 1,5,2,4,3 (D) 1,3,5,2,4
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75,

g 76.

Which letter will come in the bottom

- portion of the last figure 7

arfam arrpfa % fredt sy § 99 |/ AR
S

(A) O (B) T
© 8 (DY U

Supply the right leiters for the Questlon
Mark () :

uya fg (7) % o v v e =L
AZ,BY,?, DV, ET, FS

(A) CO {B) CW

(C) CY {ID} None of these /

= eEawd

From the given pairs of words, you have
to select the pair which is closely related
in the same way as the words of the first
pair :

GOOD : EXCELLENT : .

(A) Jealousy : Happy

(B) Sickness : Doctor

(C) Hill: Mountain

(D) Bad: Good

ol 7 wedl % i ¥ § P! 3W LR H
T T R WU PN % e 1 g #
e vy 3 geift %

e 48

(a) ot et

(B) eyt ; Tafpoass
(C) UETEl : vaa

(D) qU . 3131

Choose the odd one out from the given
alternatives.

fom Rt 3 9 Rrew ) 4 |
(A) 1521 (B) 26-38
(C) 58-70 (D) 74-88

1048
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81.
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Which letter will be 9910 the right of 16%
letter from left end
alphabetical series 7

art whren s B 163 IS T
FT OFF WA GIET 7

(A) A (B) Y

(C) E (D) U

Pointing to a boy, Narmada says, “He i
the son of my grandfather’s only child”.
How is the boy related to her 7

(A} Cousin (B) Uncle

{C) Brother (D) None of these
T TG Y SR FIT HA BY TG A e
“o[% A% 21 S i ghedl GAR YA R |
g TrgohT SUS ReY THR T 2 7

(A) (B) 3pel

(©) wig (D) FH AR TE

If ‘COFFEE’ is coded as ‘EEFFOC, how
will you code NODULE 7 -
Ff2 ‘COFFEE’ %1 ‘EEFFOC’ %fa fomm

T 8, 9 AW NODULE’ %1 63 uR

wiea w7
(A) ELUDON  (B) NOLESO
(C) ESLDND (D) ELUDNO

Amit walked 40 metres towards west and
took a left turn and walked 40 metres. He
then took a left turn and walked 40 metres
and again took a right turn and walked 40
metres. How far is Amit now from the
starting point ?

{A) 80 metres (B} 60 metres

(C) 70 metres (D) None of these
a1t ufeem Y 37t 40 H T AR -

et 40 fiex I wen | o ag et amm

7@ 3R 40 et wew, o gaw @ wiEh

R gew 40 W& wer | I\, W

yeuTd [Wg 8 el gimR ¢
(A) 80+t (B) 60 7T
() 70 (D) FHARE A

}82.
in  English ;

83.

- blue’,

In a school, there were five teachers, A
and B were teaching Sanskrit and Maths.
C and B were waching Maths and
History. D and A were teaching Hindi
and Sanskrit. £ and B were teaching
Geography and Spanish,

More than two teachers were teaching
which subjects ?

(A) Sanskrit (B} Hindi

(C) History (D} None of these
T T H U FETF 9 | A 3B e e
& o wgra 9 | C 3R B v o sfaere
agr 9 | D ¥R A ) we wepd vea 9
E 3B e @ S s & 1 @ §
it ST PR E R TR g 7

(A) W3 () &

(C) shgm (D) T € B TE
If ‘black’ means ‘pink’, ‘pink’ means
‘blue’ means ‘white’, ‘white’
means ‘yellow’, ‘yellow’ means ‘red’
and ‘red’ means ‘brown’, then what 1s the
colour of clear sky ?

{A) Pink (B) Blue

{C} Red {D) Brown

afg e @ 3rd 3 oy, Ty w0
‘g F 34 2 dar, e #9191 2
AT S T BT HY PP, A HE
FTEATE BT AR 7

(A) TSt By e

(CO IS B (D)

Which one of the given responses would

be a meaningful order of the following
words 7

MWWWW?’%@WM?}@
&I T 7
1. Yearly/ ~ 2. Fortnightly /
Tifdes |
3. Monthly / 4. Daily/
IRRE &
5. Weekly /
zmqm
(A) 4 by , , 3,2 {B) 4,5,2,3,1
(C) 4,2,3,5, 1 (D) 2,5,4,3,1
A



85.

86.

87.

88.

39.

&

Select the appropriate number to replace
the Question Mark (7).

T Rg () @ s 53 §
m‘gﬁwwaﬁﬁm

(A) 64

(By 17
(C) 32 (D) 100
48 ~12x3+¢
12-9+3
(A) 19 (B) 1/3
(C) 7/3 (I3 4/3

If the average of 53, 63, x, 41, 78, 26 is
52, then find the value of x.
af2 53, 63, x, 41, 78, 26 71 3w 522, A

x &1 O TR 1T |
(A) 51 ®B) 52
(C) 53 (D) 50

If a sum of ¥ 53 is divided among P, Q
and R in such 2 way that P gets ¥ 7 more
than Q and Q gets ¥ 8 more than R gets,
the ratio of their shares is

AR ESITWRH A P, QU R ¥ dw @
WBR siel 7 5 PRt @ & 7 7 s

FRQF R AT 8 wurer iy, af 39 o

I ST 8 - .

(A) 16:17:319  (B) 25:18:10

(CY 21:10:22 (D) None of these /
&9 G FE

‘Two cones have their heights in the ratio
~of1:3 andradii 3 :

1. The ratio of their
volumes is :

& vigaA! ) Fwnd @ srguE 13 3R
Prematt 730 1% | 3% 3neea %1 aguE
&

(A) 3:1
(Cy 1:3

(B) 2:3
(D) 1:1

93.

M3 AT VAL e R Tl Bk, om0 vt e Lo . 1l AL 8l

»
=

ey
e

91.

92,

Anil after spending 84% of his income,
saves ¥ 24 every month. What is his
monthly income ?

AP sl st ® 84% TR wFE T IR

;famg?zwam%mﬁmmw
K

(A) T 280 (B) %250

(C) 2150 (D) 180

How much time will it take for an amount

of ¥ 450 to yield T 81 as interest at 4. 5% -

per annum of simple interest ?

4.5% Siferad oY EETT M E A 4503‘3}
T W € 81 1 w1 91 & fore Rraan v
W
(A) 4.6 years /9% (B) 6 years /98
) 36 yea.rsﬁﬁ (D) 4 years / a4
The difference between the compound
interest and the simple interest on a

certain sum at 10% per annum for 2 years
is T 52. The sum is :

o ffves oy w100 whed a2

o ok W ST 3PN wElg ST % ey

F R AT 52, A THE ~

(A) T 10,408 (B) 5,200

(C) 3,980 (D) % 2,680

12 monkeys can eat 12 bananas.'in

I2 min, In how many minutes can
4 monkeys cat 4 bananas ?

C2Ee 2 Pre 12 R @mEs E @

s 4 A e dw et ¢
(A) 40 (B) 80
() 15 (D) 12

A seller marks his goods 20 percent
higher than cost price and allows a
discount of 5 percent. The percentage
profit is :

@ﬁmmmmaﬁrwmﬁzo
wfereTel e 3ifea war ¥ 3ik 5 viwa

TEAWE | T WA -
(A) 15 (B) 26
(C) 6 (D) None of these /

ESLRER G
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90,

A seller sells one transistor for ¥ 846 at a
gain of 20% and another for ¥ 966 at a
foss of 4%. His total gain or loss percent is

16 1 )
{A) 5 17 % gan (B} 6 E—?;% gain

(Cy 5 ‘i—g % loss (D) None of these

wh Tashan o TR &1 ¥ 846 W TR
L 20% T N Hide e § o R B
% 966 Tt Ry WX 4% Y Wi T &
T T T AT B SR R —

16

(B) 6%%?{1’#

(© slé%sﬂ%t (D) T F % 7

T+7+7x7=7
(A} 6/7
(Cy 50/7

(B) 14
(D) 44

The area of a rectangle is 252 cm? and its
tengih and breadth are in the ratio 6£9 : 7
respectively. What is its perimeter 7

T ST FT AARE 252 cm? B HR I

oSS T SIS A 90 7 % FT A €,
@ sawt ehma T R 2

(A) 64cm (B) 90 ¢m

(Cy 60cm {D) 120 em

The population of a town increases 5%
annually. If its present population is
74970, what it was 2 years ago ?

Th TR $ TH06T FiF 5% T 5gd § |
7T aeht o G 749708, T2 9
o fr off 7

(A) 72090
(C) 68000

(B) 63165
(D) 64290

1048
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100.

ik 1 e T L T
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101.

102

If 200% of a number is 90, then what is
the 80% of that number 7

wig el v =1 200% B 90, T 3¢ dEa
1 80% foe g ¢
(A) 36

(C) 74

(B) 96
{3} None of these/

A HE T8

3 men and 4 boys do a piece of work in
8 days, while 4 men and 4 boys finish it
in 6 days, 2 men and 4 boys will finish it
in:

(A} 19 days {B) 16 days

{C) 12 days (D) 18 days

3 et 31T 4 TS TH T & el 8
far o &, wien 4 el 3T 4 g 38
sRAd @ E |2 s o4 TP R
THA

(A) 19 fesfi (B) 16 festi ®

(C) 12Tt (D) 18 et &

Find the average of the following set of
Scores.

e gyt & &2 1 olea Fra i |
966, 361, 189, 248, 460, 826, 528, 230
(A) 476 (B) 505

(C) 464 (D) 528

A rectangular water tank is 8 m high, 6 m
long and 2.5 m wide, How many litres of
water can it hold 7

{A) 12088 litres (B} 1208 litres

(C) 120000 litres (D) 1209 litres

T srEaresl T 1 TR 8 HY. St 6 #t.

wrf) 3fir 2.5 . = 2 | g feam #ie
TRt GTTer ST O 2 7 .
(A) 12088 # @ (B) 1208 X
(C) 1200007 (D) 1209 efiex
A



Direction : {Questions 103 te 105) : Study
the following information carefully and

answer the given questions.

e (31 103 @ 105) : FrfrRea et =

wTYE 9¢ us T e w5 saeed |

- A word arrangement machine, when given an
them
following a particular rule in each step. The
following is an illustration of input and the

mput Hne of words, rearranges

steps of rearrangement.

T veg T wefts & e weg) o i
@ 9t B 79 9 vos v § w faftn fram
T TR H 32 T afem s | e
F Y- SHEEYT 1 U SaTEtYl eeiiea & -
Input / Go for to Though By easy
ACCEd To Access at
StepI/ : Access Go for 1o Though By
qr 1 easy To at
Step I/ . Access at Go for to Though
07 11 - By easy To
StepIllI/ : Access at By Go for to
=TT 111 Though easy To
StepIV/ : Access at By easy Go for to
LN AY . Though To
StepV/ : Access at By easy for Go to
q0 Y Though To
Step VI/ : Access at By easy for Go
=T VI Though to To
Step VII/ : Access at By easy for Go
|9 VII Though To to

~And Step VII is the last step for this input.

affe e VI g9 Faw s orRm o 21

As per the rules followed in the above steps,
find out 1n the given questions the appropriate

step for the given input,

P8 bkt hsmikaars Tty L4 HLbaker 4. elinka Tio—p TSR TR 7L N i iy
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103.
- Which of the following steps would be

104.

108,

5

(©) afwar

Input : every and peer to an for

‘an and every for peer to’ ?
Prw every and peer to an for

‘an and every for peer to’ fFi=feiga # &
I W0 E 7

(A) III , - (B IV
(C) V (D) None of these/

- zAd 3 w1E 19!
Input : Together over series on feast the

so
Which of the following steps will be the
last but one ?

4w : Together over series on feast the

80

ot w1 4 @ AfRm | v @ AR =

il

(A) I (B) 1V

Cy v (D) None of these /
- HAEETE

Iﬂyut : Over Go For through at one

‘Which step will be the last step of the

above input ?

43w : Over Go For through at one

3R e w1 sfm s s wmET ¢

Ay V (B) VI

(C) viI (D) None of these/
v P

Which of the following

characteristics of Computer ?

(A) Diligence (B) Versatility

is/are

(C) Accuracy (D) All of these
P 1 G B ot et i arfrenerfirsa /¢
B30
(A) dftien (B) wgaedt

(D) ATl

104B

107.

108,

(A) AutoFill (B) ClipArt

(C) WordArt (D) AutoShape
 wvm S # awE & R

IR (ready for use) -Fififa ism @

- wEhE R

(A) Fa-fe (B Tom-ame

(C) w3~ Dy FH-d

Which input device is usually a standard

109.

1048

Display Card is used for the purpose of

(A) Sending graphics data 1o oufput umnit

(B) Receiving graphics data from output
unit ' '

{C) Sending graphics data to input unit

{D) None of these

TEE T 1 ITM W R H R AR

(A) ITRYe gRe @ mifwed B 99 &
o | |

(B) T3E g B e 2T W HE ¥
il

(C) TgE gz &t withee 321 9o & g |

(D) T =g 7 o

refers to a pre-made images ready
for use in MS-Word documents.

feature of laptops ?

(A) Graphic Tablet

(B} Alpha numeric Keyboard
{C) Touch pad gﬂ
(D) Magnetic Stripe reader -

o A 8 9 E sge gfs wR: AT w T
T R0 E 7

(A) i dE@e

(B) FeH-~AN Fi-=1g

(C) w=ls

(D) Mfes wgw

110,
i

PIIAME T AA Lk Mi osrmke  e ETTE A A AL A Va3 R e

v7

111,

Software in computer

{A) Accelerates speed of I/O access

(B) Increase” the speed of Central
Processing Unit

{C) Can be utilized without supporting
hardware

(D) None of these

IR WS

(A) [/ O vt B i wafe S |

(B) Tvget TR Y = i bl g § |
(C) wfn grddet 3 oy 3ugm o fern s
THAE |

(D) Tl &g el

Which of the following is not trye for a

magnetic disk ?

{A) The access time of magnetic disk is
much less than that of magnetic tape.

(B) It provides only sequential access to
stored data.

(C) It is expensive relative to magnetic
tape.

(D) All of these

uw Hitfew foes % o P T wmwr o

Crat i

(a) B v w1 wada 2ign Aifess 29
g TIPS |

(B) ¥z viglhg a1 w %ew Igmiad
U &1 R

(C) =g Bifems ou ot arden wEfi 8 |

(D) ¥y

is the ability of the operating
system to run more than one application
at a time.

(A) Booting (B) Copping

(C) Pasting {D) Multitasking
_ THE End O us | s vl
HI1 T HE Y 3TRE ren Fr e R o
(a) e (B) Hifdm

(€) A& (D) TeierehT

A



113.

114.

115,

116.

117,
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Which file starts MS-Word ?

1 H ST MS-Word 1 & FEI &7
(A) wordexe = (B) msword.exe
(C) word356.exe (D) winword.exe

Your Excel 2007 file is stored with the
extension * ”

A9 TRE-2007 EA < ”
TEHSTH % T W B R |

{A) .docx {B) .xlsx
(C) xlix (D) .zitx

Special effects used to introduce slides in
a presentation are called

{A) Custom animation

(B) Effects

(C) Transition

(D) None of these

SRR & il 1 v F R s
353 I I T ST g

(A) T TR (B) g

(C) Ti=mm (D) A HEE

QOutlook Express is a(n). .

(A) Protocol (B) Browser

(C) Network (D) E-mail Chent
I TN R T

(A) NEd (B) SI¥H

(C) eudk (D) §-Ut FoTe

Which of the following is not an input
device ?

(A) Keyboard

(B} Video Display Unit

(C) Light pen
(D} Touch pad .

Pedgdsn B ER afeadi ¢
(A) BE |
(B) A =gz

(C) TR

(D) =9 e

119,

120.

121.

18

As compared to diskettes, the hard disks
(A} have low storage capacity.

(B) are more portable.

(C) are more expensive.

(D) are slower,

e i ge ¥, wre fown
(A) W YSTOOT &70e &H BT & |
(B) frs gamm & &

(C) nfers wET B E |
(D) R 2|
The resclution of the screen. is indicated
by
{A) dots (B) colors
(€C) pixels {D) None of these
Gh 1 Reiegys % g ffde fom
WIS |
(A) iE (B) ®ed
(C) et (D) TR w7
An Operating System is a
(A) Hardware (B) Software
(C) Firmware (D) None of these
s s e e
(A) AW (B) wifweaen
(C) whaa (D) THE R

In Rajasthan Hakat-Bahat types of land

on the basis of growing capacity means

(A) Land suitable for Irrigation &
Agriculture

{B) Farm land near to village (attached)

{C) Farms left uncultivated throughout

the year
(D) Land irrigated by canals

e § IGT HHA % R R $
THR BHI~TET FHT 31 7

(A) Riard @@ FY & fo 3o iy

(B) #ita < wfty =1 vifiy (wewm)

(©) Tt gaw e ad ¥ o

(D) et grr R gfy
_ 104B
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‘Chhappan Basin’ is there 7

{A) Banswara (B) Pali
| (C) Alwar (D) Tonk
= ‘g afem P AR, e d
() S (B) wref
L () @ (D) T

What is ‘Dammni’ in Marwar ?
(A} A type of folk song

(B) A type of odhani

{C) A type of dance

(D) None of these

ARETS B TR F@mE ¢

(A) & TR 1 Frawila

(B) T W bt g

(C) T TR &1

(D) T A T ®

123.

124,
(A) Dulhe Rai
(C) Jaisingh
FHETET TTelY F HEATS &
(A) RIE (B) Wi
(C) waftE

125,
Court’ 1s at
(A) Jaipur
(C) Jhalawar

(B) Tonk
(D) Jodhpur

T I ey’ e N waid 2

(B) &%
(D) TR

(A) SEAE
(C) aARnare

1048

122. In which of the following district

Founder of Kachhwaha dynasty was
{(B) Bharmal
(D)} Kokildev

(D) ®ifereica

The principal seat of ‘Rajasthan High

=N
3]
b4

Y TR WAL ke gy i B R ACMALIAE i . TP M B T TTRATRAGE

trak
L -]

128.

126, Match the following : -

ofra HR
~ Books / 3% Writer / SRGe
a. Radha/ - 1. Sumer Singh
HT Shekhawat /
Srefeis S
| b. Maru-Mangal/ — 2. Harish Bhadani /
- gl e
¢. Bathan Mein - 3, Satya Prakash
Bhugol / Joshi /
i & i e e
Codes / %2 :
a b ¢
(A1 2 3
B3 1 2
Cy2 3 1
M3 2 1
127. Which of the following in Rajasthan was

not the centre of the 1857 Revolt ?

{A) Jaipur (B) Neemuch

(C) Aauva (D) Ajmer
Frafafaa & @ ®9 @1 wer qoem 3
1857 FrrfRmbgadion ?

(A) TR (B) s

(C) T (D) FAAT

The dance performed by Garasia tribe is
(A) Shankatia  (B) Ghudla

(C) Panthari (D) Walar

TR ST g Fea 1 weT e 8
(A) TRt (B) e

(C) witrerdt (D) TR

. Which of the following pairs is incorrect 7

(A) Eklingji Temple — Udaipur

- (B) Karni Mata Temple — Deshnok

(C) Sun Temple ~ Bharatpur
{D) Meerabai Temple — Chittorgarh, Merta
PFeidem @ Tea g ¢
(A) THRFt R - SR
(B) ot 1 wifen - Qurlin
(C) G W — weage
(D) i | - faeitere, Sea
A



130.

131.

132.

() 3.2.1
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The correct chronological order of the

following battles fought by Rana Sanga

will be :

Ww%ma@nﬁﬁmmﬁw
uﬁw@m

Battle of Bayana /
g ) FEE

2. Batile of Khatauli /
@i ) wEs

3. Battie of Gagron/
TR o] wers

Code T
(Ay 1,2,3 (B) 2,3,1

D) 1,3,2

When was the designation/post of
Rajpramukh abolished in Rajasthan ?
{A) 1*November, 1956

(B) 26" January, 1950

(C) 15" May, 1949

(D) 18" April, 1948

TRRT 3 TN %1 78 %8 THTH 31 7
(A) 1 7Ea%, 1956 =

(B) 26 Fall, 1950 Ea|

(C) 15%%, 1949

(D) 18 37341, 1948 =i

Which of the following is not matched
correctly ?

~ National Park District

(A) Sariska National -~ Alwar
Park

(B} Keoladeo Ghana - Xarauli
National Park

(C) National Desert - Jaisalmer
Park

(D) Ranthambhor —  Sawai
National Park Madhopur

FofAfgg f s T e § ?
TP U= R

(A) Siemrfiasas - ST

(B) Haeed Ol TEE - HUA
33U

©€) T mesy™ ~ AT

(D) TRWRTE - w6
EQIC| AR

! 133.

==Y
[
&N .

20

134,

135.

() T\ 171

. ‘Nimuchana Kisan Aandolan Massacre’

Match the following :
Reaforfias ) aiferd #

a. Taragarh Fort/ — 1. Jodhpur /
b. Jaigarh/ - 2. Ajmer/
ST | 3TN

c. Kirti Stambh/ — 3. Chittorgarh /
T
d. Mehrangarh Fort/ — 4. Jaipur/
Aetg e e
Codes /g2
a b ¢ d
(A2 4 3 1
1 2 3 4
)2 4 1 3
>y1 3 4 2
The working area of *Sant Bhuri Bai
Alakh’ was
(A) Mewar- {B) Vagad
(C) Gorwar (D) Marwar
T ot ST ST T HEET AT
(A) g (B) IFTg.
(C) TeTs (D) TTETE

Which of the following Articles of Indian
Constitution is related with terure of
Governor ?

(A) Article 156
(C) Article 171

(B) Article 163
(D) Article 158

H
H
H
H

Pl ol Shar' = N S

Iede T & SHEe A FErm 7

(A) FTEBE 156 (B) gede 163
(D) 3FTDT 158

happened in which State of Rajputana ?

(A) Alwar (B) Mewar
{C) Bharatpur (D) Jaisalmer
w1 foru e g gan o 7

(A) TR (B) BT

(C) AR (D) SRR

104B

137.

In whose court did Nihaichand serve as
a/an court/official painter ?

(A) Sawant Singh

(B) Maharana Pratap

(C) Ram Singh
(D) Jai Singh - =
.ﬁ;q&;mi‘fﬁm e Jrifersrives /e
Ry isRwe ?

(A) graa fag (B) WO ST
(C) THidE (D) wfig

138,

(A 1&3

Consider the following statements about

‘Hawa Mahal’ Jaipur and answer the

question as per the codes given as under:

1. Hawa Mahal is an five storeyed
structure.

2. Hawa Mahal was built by Maharaja
Sawai Pratap Singh.

3. There are 983 casements or complex
designed decorative windows.

Which of the above given statement/s

about Hawa Mabhal is/are correct ?

(B 1 &2

C) 2&3 (D) 1,2&3

&1 HEe W % w1 A FrerfRifeg syt

R faEr it sk e g me gz d d

F IR :

1. %91 HES Ush Uie Tfdren e |

2. ¥E WES W T T fiE g

' ST 7T AT |

3. & AEA § 983 0@ a7 ea fEaE
4w T Reefrai € |
BET HEA % WR A FR 7w mo et § g @l

A ad /8 7

(A) 133

104B

(B) 132

(€) 23R 3 (D) 1, 23M3

i

139. In General Elections, a person can use his

140,

voting right if ;

1. Heis the citizen of India

2. Not less than 18 years of age

3. Not be in any office of profit in
Government

3179 gATaT #, T S S99 FaiEE @
IUAIT R e B, AR

1. e s ariE |

2. W18 9 9 HH TE A

3. TR AT S e e Ad e

Choose the correct answer :

e fommeq &1 aaw Fifvm

{(A) 1,2,3 (By 1,3

) 2,3 Dy 1,2

Who was the founder of the Kunda
Sect ? . __

{A) Gogaji (B) ?Pabuji

(C) Rao Ajeet Singh(D) Rao Mallinath
FE I B AT HHY ?

(A) TSy (B) WSt

(C) e fmféy (D) T weeiry

. Which type of Sarangi is played by. the

Jogis of Alwar-Bharatpur ?

{A) Jogia Sarangi

(B) Sindhi Sarangi

(C) Sarangi of Jari

(D) Gujaratan Sarangi

ST~ T % R gr ﬁ»‘ﬂ YR HY

et gSd S ] 7
(A) =il =ah
(C) = =t et

(B) fad gwh
(D) TSR Rt
A



142,

143.

Consider the following statements about
the Governor of Rajasthan :
1. He should be citizen of India.

2. Heshould be at least 35 years of age.
3. He should have competence to
become Member of Lok Sabha.

4. He can be Governor of more than

one State.
{A) 3 and 4 are correct.
(B} 1, 2 and 4 are correct.
(C) 1,2 and 3 are correct.
(D) 2 and 3 are correct.

W%W%w&aﬁmmﬁw

EEik e

1. S8 WRe &1 A g e |

2. IEHT MG FAY FA 35 9§ g 0 |

3. 304 Fie BT %1 Weey g9 & A
[AEHEHE

4. 9% U ¥ Hiims el w1 v )
THAR |

Codes /%< :

(A) 3var 4w &
®) 1,23M4a@ ¥
© 1,23R3mdE
(D) 2aM 3 TR E |

Which region in Rajasthan is known for
traditional art of printing of bel butey ?
{A) Bagru - (B) Molela

(C) Sanganer (D) Bessi

TSR &1 S 91 &3 37 §¢ 6 508 F
TRITA e F fore wrm e ¥ ¢

(A) oTI® (B) @R

(C) |PFTR (D) s=it

22

the jurisdiction

S ——

- TRURNAH TR % AT Nk SR

of Lokayukta in
Rajasthan ?

(A) Chief Minister

(B) Members of the service of the
corporations established by the State
of Rajasthan

(C) Dhstrict Head

(D) Minister

Pres fF & FRY QR % WETE b
Frftrer-dy O wfiifrm v RRnmar g 7
(A) el

(B) T T g e A

HRIE wess
(C) Rt gRemn
(D) dsft HEE

. Suranga Fair of Hadoti 1s said to be —

{A) Ramdevra Fair

{B} Parbatsar Fair

(C) Pughkkar Fair

(D) Chandrabhaga Fair
e =1 gom e T SR
(A) TrREY A @l

(B) T A% Y

(C) st A

(D) <EamT ¥ HI

104B

146. Which of the following pairs is correct ?
Institution Establishment
(A) Rajasthan Sghitya — 28 January, 1958
Academy
(B) Rajasthan Sanskrzt - 25 August, 1969
' Academy o
(C) Rajasthan Brij — 19 January, 1982
Bhashz Academy
(D) Rajasthan Hindi  ~ 15 July, 1980
Granth Academy
Faddsnwyaade
(A) ToRU™ EEeE  — 28 SWed, 1958
ST .
(B) TSRIMEGHET - 25 3P, 1969
e _
(C) T FS ~ 19 SFedt, 1982
T IrETEdt
(D) TR - 15 g8, 1980
Y Iy -

147.
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| 144. Which of the following is not included in

Select that group from the following

groups who have taken cath as a Chief

Minister of Rajasthan for three or more

ocCasions.

(A) Bhairon Singh Shekhawat - Shiv
Charan Mathur — Haridev Joshi

(B) Mohanial Sukhadia — Haridev Joshi
— Ashok Gehlot

1148, The Chairman of RSHRC is appointed by :

149,

(A) Governor on the recommendation of
Commitiee headed by Chief
Minister _

(B) Governor after getiing the sanction
of President :

(C) Deliberately by Governor

(D) Governor with the advice of Chief

Minister
RSHRC % FmaH e S
2 |
(A) yeaweh & seaga aeh affy i
I U TSI g

(B) ugafe &) wfipfa o & a1 teawa
&

(C) ATt TFIaTe BRT

(D) TR = TEg T TSI g

Ti] Chauth (Sankat Chauth) is celebrated
on

(A) Bhadrapad Krishna Shashthi

(B} Phalgun Shukla Ekadashi

(C) Kartik Shukla Ekadashi

(I Magh Krishra Chaturthi

et WY (webe =Y Bl s §

(A) WTETE HS0T wat
(B) BT A waTEEft

{C) Jainarayan V —  Mohanlal s wwTeet
SukhadiamAshi;isGehlot o © a4
(D) Mohanlal Sukhadia — Hiralal Shastri (D) srer oo wrgefl b
~ Vasundhara Raje | :
Tt 1 9 39 g w1 ww Eifve Rl de 515{}. Who is the present Information .
7 3ifis WWW%W% ‘ Commissioner to the Rajasthan State
i sy o ) I Information Commission ?
i {A) H.C. Meena
@A) gﬁ_aaﬁf'ﬁ'g @Z}fﬁ“ R A = By P Tiward
é (C) Devendra Bhushan Gupta
(B) Rigenad gafear — gies aeh - ' (D} Nene of these
) 3T et g TR U5 G SR % T
(C) STUEOT ST — WigHeITe GETed — l Wﬁ%?
T TEA _ | § (A) W e (®) tﬁ% faard
(D) e e ~ e wreh - O B @) SR
23 A
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